
Sample Exam Style

solutions



1. Evaluate f ?x2e2×dx .

Solution : f5×2e2×d× = }×2e¥f5e2×x dx

Jue×2v,=I=) =£x2e4EKxi×ff%×dDdu.tk#dv.=e2xdx_=zxze2xhIfExifIEe2Y5)
ZXuz= ×

vz=£e = ( }×2e2× .txdxttze")l?anionic
.es#IeEFIY?:i

)wt¥¥*€¥¥g. Ee
'

= 2£eE£e2



2. Evaluate fsinlxlexdx

Solution :

I
 

= fsinlxlexdx

¥Yt÷iiYiIY*YDIIi¥Yi!II¥YI:* .

fz (

D=
 cos ( × ) gzk )= ex

= sin ( × )e× - cosk )e× - I

www.go#tEcEgnYxIsxIx

this piece doesn't have to

be factored in this particular

way
.



3. Evaluate f¢an(xD3dx .

Solution "

f ( tank ,)3d×  = ftan ( × ) (@cc×D2 - 1) d×

u= tank )
= ftanlxkseccxl)2dx - Stan G) dx

du = lack ) )2dx
= fudu - ftanlxldx
= u÷ - ftanlxldx

=Ltank . ftankldx

=ltanyI_µsed×#←
tnlsedxll = hkoskll

either Is acceptable .



4. Evaluate fixes '

dx
.

Solution "

× 2+4×+3 # ( × + 2) 2- I

|F2a4xtdx= felt dx

Infinity.it#ooioi:ooao
.

) ksecop - 1) see O DO

= f@cO)3dO - fseccl DO

Dionte.IM:9#a:toInkYk3n:Fmoao.

2|(tanOPacOdO= secotanc - lnteccttancy + C

that Stand }uOdO= tzfecotanc .hn/secOttanO/)+C

nf¥%eTId {g.pt#iax.ItixtuFi-hlx+ztEiFf
you;Ee;¥ -
to
what

you

see;oIna
the

chain
of

equalities
.



5. Evaluate f- dx
.

×3t2x2t*Solution "

1
1

- Fatah =x#r=x±+×?T+2×3+2×4111=

( × + 1)
2

I = A 1×+1 ) 2+13×1×+1 ) + Cx

I = A 1×2+2×+1 ) +13×2+13×+4

I =

A×2t2AxtA
+13×2+13×+6

×2 : 0 = A  + B 0=1 +  B 0=2-1 - 1 + C

× : 0 = 2A  +  Btc B = - 1 0=1 + C

c
: 1 = A

c= -1

listen ' II. ×÷
,

- nttdx
= ftxdx - # dx - fafTpd×

=µxl-.h1x+Ht×#If these two  substitutions
are not  obvious

, you  should
write them out

.



a

6 . Determine  if f # d×
converges or diverges .

If the
- *

improper integral converges ,  

determine
 its  value .

Solution :

. #
= fjx¥dx+fxz÷,

dx:
→

¥ dx '

the .tt#dx
-

fine
.

( arotanantt )
= him ( arctan ( o ) - arctanlt ) )

tt - a

=

o.FI)2

=  I

2

F.xzttdx '

ftp.ft#dx=thjmaarotanixiE

= him arotanltl - arotanlo )

t 't

=  F

z
-

off# dx = t.sk#dx+fIt+Tdx=E+E=E
Converged



7 .

Determine  if fPlt3lsi¥×4d× converges or  diverges .

Solution : Compare  with ¥ ) You  don't have  to  write this but I

like to ,

-1 E ( sin(2×1)<-1

10 E (

sinlzxD4kloE3lsinC2xD4e3ieH3s.nm@ththitnaFYY.daoiatoaynPN3oetxrc.h3EM4.r
,

§ toy
,

'+314M¥ continuous  on [ i. a)

S ?¥d× diverges ( p
- test

, p=÷ .<1)

By
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